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<FBM>
~29 |30~39 |40~49 | 50~59 | 60~69 | 7T0~79 | 80~ | AEF(N) | LK (%)
A 5 182 436 585 369 88 8 1,673 51.2
B1 4 74 227 508 469 165 30 1,477 45. 2
B2 0 3 10 25 36 10 1 85 2.6
C1 0 0 0 1 0 0 0 1 0.03
D 0 0 7 10 10 5 0 32 1.0
ZoE (N 9 259 680| 1,129 884 268 39 3, 268 100
AT RAEE(N) 0 3 17 36 46 15 1 118 3.6
AT R (%) 0 1.2 2.5 3.2 5.2 5.6 2.6 3.6
<>
~29 |30~39 |40~49 | 50~59 | 60~69 | 70~79 | 80~ | AFF(N) | LK (%)
A 4 50 99 158 154 38 0 503 43.0
B1 0 27 89 214 203 75 8 616 52. 6
B2 0 3 7 15 18 1 0 44 3.8
D 0 0 1 2 4 0 0 7 0.6
S H(N) 4 80 196 389 379 114 8 1,170 100
BT REE(N) 0 3 8 17 22 1 0 51 4.4
AT R (%) 0 3.8 4.1 4.4 5.8 0.9 0 4.4
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<FBM>
~29 [30~39|40~49|50~59(60~69|70~79| 80~ | & (N) | (%)
E i 5| 182 436| 585 369 88 8 1,673 42.1
S A 4 23 84| 240 327 138 32 848 21.3
= MR AN 0 26 89| 195 219 86 18 633 15.9
% Y525 ) 0 0 0 1 0 0 1 0.03
A E R 0 0 0 0 0 1 1 0.03
R SEAEME B SR MAEE 0 0 1 0 0 0 1 0.03
A G 4 49| 173 436 547| 224 51 1,484 37.3
— AT a s 0 1 0 5 3 2 0 11 0.3
i .
- EW7a s 0 0 0 0 0 0 0 0 0
oW P WHEfRRE 0 0 0 0 0 0 0 0 0
ﬁf HE7a 7 0 0 0 0 1 1 1 3 0.1
= N 0 1 0 5 4 3 1 14 0.4
ST EH 0 0 1 0 0 0 0 1 0.03
B |STIET 1 28| 128 239] 178 55 2 631 15.9
@ T ¥R 0 0 3| 11 5 1 0 20 0.5
75 | THCHRAE 0 71 28] 63 46 7 1 152 3.8
61T 3 2 EPEAL 0 1 1 1 0 3 0.08
7N 7 1 35| 161| 314| 230 63 3 807 20. 3
<>
~29 [30~39|40~49|50~59(60~69|70~79| 80~ | & (N) | (%)
E i 4 50 99| 158 154 38 0 503 34.9
S PEHSMIGE 0 8 22| 108 134 61 9 342 23.8
= MR AN 0 8 17 53 53 23 1 155 10. 8
%f S 0 0 0 0 0 0 0
A E R 0 0 0 0 0 0 0
Ik SEVEME B SR MEE 0 0 0 1 0 0 0.1
A EE 0 16 39| 161| 188 84 10 498 34.6
VY= 0 0 1 0 0 0 0 1 0.1
i _
- EH7 oy s 0 0 0 0 0 0 0 0 0
W P WHEGERE 0 0 0 0 0 0 0 0 0
ﬁf fE7wa Y7 0 0 0 1 0 0 0 1 0.1
= N 0 0 1 1 0 0 0 2 0.1
S TIKTF 0 18 64| 129 109 27 4 351 24. 4
% Tk 2 FbE 0 0 5 5 6 0 0 16 1.1
M| TRt b 0 3 13 25 21 4 2 68 4.7
%E\ T I ARk 0 0 1 1 0 0 0 2 0.1
7N 7 0 21 83| 160| 136 31 6 437 30.3




